A

M FEgiiel ¥ L FE(MI=EX/S)
ool FEgiel 3 (ctel®
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
dEH=a L Xtel 149,678,783 142,559, 369 7,119,414
= 114,010,041
J| 4,551,000
= 31,117,742
FEdle 3 L FE(MISX/ES) 18,686,029 23,225,370 A 4,539,341
= 12,273,139
= 6,412,890
ALl ZH 512,500 100,000 412,500
= 300,000
= 212,500
HESSH 243 AME(=1) 100,000 100,000 0
= 50,000
= 50,000
307 21=2+01 A 100,000 100,000 0
= 50,000
= 50,000
02 BIZtHAAMPE X 100,000 100,000 0
OFHE=sH 243 A 100,000
= 50,000
< 50,000
22" s 2N 100,000 0 100,000
308 X EHSOIA 100,000 0 100, 000
08 WEJI&0UetE XL 100,000 0 100,000
OZ3&d THus 24X& 100,000
HECH XAE(ZD) 312,500 0 312,500
= 250,000
< 62,500
308 XXM SO0l & 312,500 0 312,500
= 250,000
< 62,500
11 3IN2SoeE &R E A 312,500 0 312,500
OFHSTH XEAE(=21) 312,500
= 250,000
& 62,500
AR 2= 18,173,529 23,125,370 A 4,951,841
= 11,973,139
= 6,200,390
A LXtel X2 13,710 216,000 A 202,290
201 Let2 | 6,710 9,000 A2,290
01 At 22l bl 6,710 9,000 A 2,290
oFdELXtel XA 6,710
202 o4l 7,000 7,000 0
01 =2 LHA BI 7,000 7,000 0
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SA:E
X ZH -
(=

S

. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2

ozdddxel XA 7,000

FEUlel NAFEXSA AE(=21) 6,788,715 18,075,905 A 11,287,190
= 5,153,442
= 1,635,273

307 g1z2tol & 821,176 1,357,500 A 536,324
= 410,588
= 410,588

02 QIZHBAASEE X 821,176 1,357,500 A 536,324
oxddE LIl NAZFEHXNE A 821,176
= 410,588
< 410,588

308 AUXIEHSOIA 5,967,539 16,718,405 210,750, 866
= 4,742,854
= 1,224,685

01 AXEHBAELS 5,967,539 16,718,405 210,750, 866
oFd"Lxel NIZEAXE ALY 5,967,539
= 4,742,854
= 1,224,685

HFEUXe XNEZTAEIZUUSE AL (=21) 403,788 1,367,675 A 963,887
= 324,740
= 79,048

308 XXM SO0l A 403,788 1,367,675 A 963,887
= 324,740
S 79,048

01 AXEHBAEEES 403,788 1,367,675 A 963,887
oddELIe NAZAEIZUHUHSE At 403,788
= 324,740
= 79,048

HugXiel XA (2D) 4,885,230 0 4,885,230
= 3,585,750
= 1,299,480

307 212+01 A 1,155,000 0 1,155,000
= 577,500
= 577,500

02 BIZtF A AMPE X 1,155,000 0 1,155,000
o¥ELIe NIFHLMH 1,155,000
= 577,500
= 577,500

308 XXM SO0l & 3,730,230 0 3,730,230
= 3,008,250
= 721,980

01 AXEHBAEXS 3,730,230 0 3,730,230
oOFd"LIel NIHME 3,730,230
= 3,008,250
= 721,980
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FM FEH2 MLt
H

Iu: Zuulel M Y
o9 Muuxe s (col: @
= _ d L1
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
FEaxiel AMIIBHSE (2 7) 3,472,875 0 3,472,875
= 2,502,500
= 970,375
307 912+0| ® 627,500 0 627,500
= 313,750
= 313,750
02 BI2HZ A ALY 2 & 627,500 0 627,500
OAZRINNY S HEHY X8 513,250
= 256,625
= 256,625
O HE AKAZHA N 114,250
= 57,125
= 57,125
308 XX €M SOl & 2,845,375 0 2,845,375
= 2,188,750
= 656,625
01 RSB RES 2,845,375 0 2,845,375
OAZSINNY S HEHY X 1,566,500
= 1,205,000
= 361,500
O HE AXAZHA N 1,278,875
=2 983,750
= 295,125
Eane NAEZSH (2 D) 561,711 0 561,711
= 406,707
= 155,004
307 212+0| ® 324,847 0 324,847
= 235,205
= 89,642
02 DIt A ALY B X 324,847 0 324,847
oFEYNE NALBH 324,847
= 235,205
= 89,642
308 XXl EH M S 01 & 236,864 0 236,864
= 171,502
= 65,362
P EL eSS 236,864 0 236,864
oFHYXe NAZESH 236,864
= 171,502
= 65,362
YUE FETHSE NIAMY 2,047,500 1,260,000 787,500
308 X+ Xl EHH S 01 & 2,047,500 1,260,000 787,500
11 BII2HS0I0H3H 2 & = 2 S ALt 2,047,500 1,260,000 787,500
OLEET FHURNEE NAAMY FA 2,047,500
DY Xl ZA (MY - ZAILLHUX /MBS ) 2,457,000 1,745,000 712,000
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A

X ZH -
S =

FEozagxtel
Dl Rtel =4 (&g

- EAIGLUUR/AS =)

el FEXE (et
% 5 SIE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
eSgepNE 2,457,000 1,745,000 712,000
G-AEIEY FAX A 1,357,000 1,745,000 £.388,000
201 L2 | 2,000 3,000 21,000
01 Al 22H 2,000 3,000 A1,000
OUHI & XA =& 2,000
202 04l 2,000 2,000 0
01 =LK 01 Hl 2,000 2,000 0
Ot & XJAY =& 2,000
307 2120l & 1,353,000 1,740,000 /387,000
02 QA MAEE 1,353,000 1,740,000 387,000
O0HIZY XIBAY =& 903,000
O=JI1& XNFAY =& 150,000
OFAETA XA =2 300,000
2 2ZHAHIIY SHAY 1,100,000 0 1,100,000
307 @120l & 1,100,000 0 1,100,000
02 QIAA LA E R 1,100,000 0 1,100,000
oO8EHANE XEE XN& 1,000,000
oMy olE T2 2% 100,000
H24agne 8 L FE(ME=X/c0 - Had) 126,180,828 115,993,691 10,187,137
=2 100,983,427
ol 4,551,000
3 20,646,401
olgxiel #EW ASEE 120,131,796 109,777,619 10,354,177
2 100,983,427
3 19,148,369
Cogxel ¥ ASES N (2D) 120,131,796 109,777,619 10,354,177
2 100,983,427
3 19,148,369
308 XX EHAI S 0l 120,131,796 109,774,815 10,356,981
2 100,983,427
-3 19,148,369
01 MHXSHMBAEES 120,131,796 109,774,815 10,356,981
oozMUxAY A 114,890,215
=2 95,741,846
S 19,148,369
oz aLRelArY dgelsed & 5,241,581
2 5,241,581
100MIAITH, 012 &1L X2l At 6,049,032 6,216,072 A 167,040
Jl 4,551,000
-3 1,498,032
HEMAT2IAY FX 6.300 0 6.300
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SA: BAN AL D
Hu: AUl ZE Y FE(MIA=X /L

for

re
0]
b
m

2 100MIAICH, (2 AL XTtel AL (28
% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
201 24l 6,300 0 6,300
01 At 22|l 6,300 0 6,300
oozaLitel SEUHH =2 F AMES 6,300
(SUAES)I00MAILH 2 LTl (=) 4,551,000 4,652,000 A 101,000
J| 4,551,000
308 XS HSOIA 4,551,000 4,652,000 A 101,000
J| 4,551,000
01 HXSHILAEEXS 4,551,000 4,652,000 A 101,000
oOzdas LRty =2 4,551,000
J| 4,551,000
(HSE)100MAICH H=E AL Xe 55,766 66,086 A 10,320
307 2I2t01 A 34,166 33,686 480
02 QIZtHAAMPE X 34,166 33,686 480
OFYE LRl ArY =& 34,166
308 AAEHHMSOIA 21,600 21,600 0
01 HXSHHILEXS 21,600 21,600 0
OFEE HzaLXeIME =8 21,600
(QIEE)100MAITH 2L X2 885,966 885,486 480
307 glz2tol & 885,966 885,486 480
02 QIZHH &AL E X 885,966 885,486 480
OQEE AL RtelArY =& 885,966
(S )100M AT 2L XE] 400,000 500,000 100,000
308 AUXIEHSOIA 400,000 500,000 A 100,000
O1 AIXSHHBHEEXS 400,000 500,000 100,000
OS3stg HzdgReIMg =& 400,000
ZRE 2308 X 150,000 100,000 50,000
403 AXIEHHS =01 & 150,000 100,000 50,000
01 XXX A2 x 150,000 100,000 50,000
OZds B30y &X 150,000
ERM2oA ASEN KN (MI=EX/ES) 2,289,275 1,531,275 758,000
= 740,000
< 1,549,275
AMSYE At MHIA =T 2,289,275 1,531,275 758,000
= 740,000
< 1,549,275
AEdE A Xl N (21) 1,480,000 922,000 558,000
= 740,000
& 740,000
307 2120l A 1,480,000 922,000 558,000
= 740,000
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2A: UM L2
M EXMIoE AMFEHNH KN (AEX/ES)
S ANEUE AMIIAHIA =20 (cte: &
- _ ShE]
SN EH.C(EH) - MBAY - BAS Ol & o8 e Hlms2
= 740,000
02 QI2HF A AL E X 1,480,000 922,000 558,000
oKNz=4d ZgaEdxe N 1,480,000
= 740,000
& 740,000
MEYE ANSSSHES XSA(HEAY) 609,275 0 609,275
307 QI2t0I ™ 609,275 0 609,275
02 Q2B AMASEZ 609,275 0 609,275
ONZEYH A B8 E8sS XA (NS 609,275
MEE WHY SSU= 200,000 0 200,000
308 AtXI S SOl A 200,000 0 200,000
1 SI2ZSOHHSEAEAE ALY 200,000 0 200,000
ods4dE MHHY SSu=E 200,000
¥ AAH (FEHS AL X2l m) (IIEHIIE 65,651 64,033 1,618
= 13,475
= 52,176
ol 23| 43,802 42,184 1,618
= 13,475
& 30,327
Coldxiel Y AMSES NI (AE)(=1) 43,802 42,184 1,618
= 13,475
T 30,327
101 2124 4| 43,802 42,184 1,618
= 13,475
o 30,327
03 SR (IH)22XHE+ 43,802 42,184 1,618
OHEAAXteIAIY dEolsd i X 43,802
[OPIR=3= 2,321,600& x12& 27,860
= 8,638
= 19,222
(OF ==y 2,321,600& *50%*23] 2,322
= 720
= 1,602
[@F=F sl 140,000& = 12& 1,680
= 521
T 1,159
[@FnE==}s]l 100,000 x12& 1,200
= 372
= 828
Og & s0ty| 2,321,600& *50%*23| 2,322
= 720
& 1,602
Oonsxg 40,000 «12& 480
= 149
= 331
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SN HE02
Hu: #yLY
2y

o o
el ole

el gl
2 - 4 14
SN EE - SR(3A) - MEAY - BES 0l &k o i
SEEREREEEEES=
13, 1833 x150%* 18 Al 2+ 123 4,272
= 1,325
< 2,947
(@)D=l Ry 105,458% 12 1,266
= 392
= 874
Ol 200,000& = 12& 2,400
= 638
= 1,762
Jl=&4l 21,849 21,849
fA29 Jl2&l 21,849 21,849
201 LeH24EH| 15,087 15,087
01 At 22|l 15,087 15,087
ORA2YE ARl 15,087
202 (4l 3,762 3,762
01 =LA 8l 3,762 3,762
OFNE2E S WAL 3,762
203 R =&Yl 3,000 3,000
04 FN2EHRF=TH 3,000 3,000
©15¢! ol at 250,000& 122 3,000
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